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Question: 1 
   
Which of the following information can the shift report display? (Choose three) 
 
A. Planned and actual costs for shifts 
B. Digital signatures for approval of a shift report 
C. Maintenance plans and task lists 
D. Maintenance orders and notifications 
E. Measurement documents and goods movements 
 

Answer: B, D, E     
 

Question: 2 
   
What does the scheduling period determine in the maintenance plan scheduling parameters?  
 
A. The duration for which the system generates maintenance orders immediately 
B. The duration for which the system generates planned or call dates during scheduling 
C. The duration for which the system generates maintenance notifications immediately 
D. The validity period of the maintenance plan 
 

Answer: B     
 

Question: 3 
   
What does the cycle set sequence in a multiple-counter maintenance plan determine?  
 
A. The scheduling sequence of a maintenance item 
B. The operation sequence of a maintenance order 
C. The scheduling sequence for a group of maintenance plans 
D. The operation sequence of a task list 
 

Answer: A     
 

Question: 4 
   
To which objects can you assign a user status profile? (Choose three) 
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A. An order type 
B. A task list type 
C. A maintenance plan category 
D. An equipment category 
E. A notification type 
 

Answer: A, D, E     
 

Question: 5 
   
In which lifecycle scenarios can you use SAP Solution Manager? (Choose three) 
 
A. Retirement 
B. Operations 
C. Implementation 
D. Optimization 
E. Scoping 
 

Answer: B, C, D     
 

Question: 6 
   
What are the prerequisites for installing equipment at a functional location? (Choose two)  
 
A. A cost center is assigned to the equipment. 
B. A fixed asset is assigned to the equipment. 
C. The equipment category of the equipment allows the installation. 
D. The functional location master record allows the installation. 
 

Answer: C, D     
 

Question: 7 
   
Which of the following steps are required to create a measuring point for performance-based preventive 
maintenance? (Choose two)  
 
A. Specify the annual estimated usage for the measuring point. 
B. Activate the Measurement Reading Transfer indicator. 
C. Define a valuation code group. 
D. Create the measuring point as a counter. 
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Answer: A, D     
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